P:\SW-Tek\Timo en Cleo\Timo 6021\

6

Set (Left +right)

Set (Left + right) C\
9

Signed KA | Date 01-03-2016 . .

Revised 01 /KA | Date 29-10-2018 O p 'I' T

Revised 02 /KA | Date 31-03-2020 V e rV I eW O r S | m O
Copyright reserved | Unit of measure-

by law

ment: mm

Lopital Nederland bv | Type nr: 54006021




Timo 54006021

P:\SW-Tek\Timo en Cleo\Timo 6021\

Part nr. QTY. Art.nr. Part
1 1 70602101 Frame
2 1 70203509 Backrest
3 1 70602105 Seat
4 1 70565001 Armrest
5 4 70602006 Snaploc
6 1 70510050 Guide for bedpan set
7 1 69501104 Bedpan + lid
8 4 Insert @25
9 4 Tube cap @25
10 2 75005640 Cylinder head screw M8x16 Super Duplex 4529
11 4 Countersunk screw Méx10
12 4 Flat washer M5
13 4 Cylinder head screw M5x8
14 4 Capring M4
15 4 Chipboard screw 4,2x30
16 4 Screw cap M4
@
Signed KA | Date 01-03-2016 . .
Revised 01 /KA | Dale 29102018 Overv|ew pG rTS Tim O
Revised 02 /KA | Date  31-03-2020

Copyright reserved
by law

Unit of measure-

ment: mm

Lopital Nederland bv

Type nr: 54006021




